1A. Karen had 6 toy horses. When she cleaned
her room she found 2 more horses under her
bed. How many horses does she have now?

1B. Karen has 6 horses in her toy box. There
are two horses under her bed. How many
horses does she have in all?

2A. Amy and Lisa together have 8 carrots. Lisa
has 5 carrots. How many does Amy have?

2B. Lisa had 8 carrot sticks in her lunch. She
gave some carrot sticks to Amy, and she had 5
carrot sticks left. How many carrots did she
give to Amy?

3A. The popcorn club made bags of popcorn to

sell at snack time. They sold 16 bags of popcorn
at snack time, and they had 5 bags left over that
didn’t get sold. How many bags of popcorn did
they start with?

3B. The kids in the classroom have 16 bags of
popcorn. There are 5 bags of popcorn in a box
in the corner. How many bags of popcorn are

there in all?

4A. There are 5 blue origami frogs that Sam
made before lunch, and some green origami
frogs that he made after lunch. There are 9
origami frogs in all. How many green frogs are
there?

4B. Sam has 5 origami frogs. How many more
frogs does he have to make to have 9 frogs?

5A. Andrea had some bracelets. Her friend
Sarah gave her 2 more bracelets, and now she
has 8 bracelets. How many bracelets did Andrea
have before Sarah gave her some?

5B. Andrea has 8 bracelets. Two of the
bracelets are ones she just got from Sarah, and
the rest are ones she has had for a long time.
How many bracelets has she had for a long
time?

6A. There are 8 balloons. 3 of the balloons are
high up in the sky. How many balloons are not
high up in the sky?

6B. Mary has 8 balloons. 3 of them fly away.
How many balloons does she have left?

7A. There are 9 pink Starbursts and 6 yellow
Starbursts left in the candy bowl. How many
more pink Starbursts than yellow Starbursts are
there?

7B. There are 9 cupcakes. 6 of the cupcakes
have frosting. How many of the cupcakes
don’t have frosting (yet)?

8A. Annie has 10 crayons. Some of them are
new crayons, but 2 of them are not new. How
many new crayons does Annie have?

8B. Frank has 10 crayons on his desk. Frank
has 2 more crayons than Rachel. How many
crayons does Rachel have?

9A. Kelly has 3 more markers than pencils. She
has 6 pencils. How many markers does she
have?

9B. Sandra has 6 pink erasers and 3 blue
erasers. How many erasers does she have?







